ol

Rhino Capra Axles & Rhino YUE LCG Chassis Assemble Guide

ey -y ]
SITITICT ST AN AR
«3333

FE P on b B e L
PPN i pe bt

R I S
v heh


https://youtu.be/Z4TamGI5LIg?si=bsniSvHO7UJ2YA7r
https://manuals.plus/m/c7e18b5d6c2a955bbfa90c979596f54f3ef5aeeeb1257de7b4b3daf81b2d3ca0

Rhino Capra Axles Kit:




:-.7.-77;"--
:ﬁ' _,.{_

-h——ovr— - e

Step2: Servo Mount assembled:




Step3: Riser Link assembled:

(If you assemble riser link only, please use M3*8mm screws, it put in riser bag)

r'. T o e
e L .'f

"‘ / '__I ' Pm— 4 :
r,.':v LA .,,:eL-

, | ‘ —

A . 3”7 ~] T
L AP |
'.....-. e i
ity = L ~ o
7 o O 5y I I O o O\
iy ENEERND S =%
i e e e ) 8 % AT T T “

If you assemble riser link and battery mount, please use M3*10mm screws, it put

inbattery mount bag




Step4: Gear box assembled

Assemble Rhino S12 Motor

- -
Lo.-.-“oso. -

<

:
3
.
v
i
-t
.
i
-
.




)

Step5: Please use curved link ends on 60mm length Titanium alloy Link:



Step6: Assemble 60mm length link and shock (95mm length) to front axles

(Use 2pcs M3*25mm screws)

-
rds - -



Step7: Assemble 65-81mm driver shaft to front axles:

Step8: Assemble gear box and Front lower link to YUE LCG chassis

Use M3*20mm and M3*30mm Screws




k to Rear Axles:

In

Assemble Rear lower li

Step9




Stepl10: Assemble carrier to YUE LCG chassis
 f ol aoae

T
’

‘.‘n-"- i ~r)‘

%r"""'
)
' .‘L :‘ | S Y



Stepl1l: Assemble 190mm bent link to YUE LCG chassis

Use M3*25mm Screw

T
g 1383
2y
% |

gRaw

Eashed

-
ORIC e
. .n..

F#
"
1




Step12: Assemble 100mm link to Rear Axles




Step14: Assemble Rear Shock and Rear link to Chassis

Use M3*20mm screw and d3-D6+*5mm Spacer

S S iLs
BOSS s 0 AL 2111 8

(LT T
eaeas L
AL LS RSP IT S




Stepl15: Assemble 65-81mm driver shaft and front Upper link to chassis




Stepl16: Assemble Bumper

et B [N e e of N
- i~ i
KD oA B A" A o e, ” :
Lo " " i 874 » ol o
) G ™ S50 X", ", 0/ .

N Py~ O . 4 LX "
AP w\v T + LAV Ay
B ) - "

| % o L ™. ' I 4

_ . v B T A%




Stepl7: Assemble body mount:

o y
Im S DE B8 B DA DY SRR R







Installing Rhino power system:







